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Please check whether you have got the right questlon paper
N.B: 1. Figures to the right indicate full marks
2. All questions are compulsory

Q.1 A) Fill in the blanks with the appropriate option given in the bracket (Any J,O) &5 (10) .

Q.1

R ) (- —— be stored for future sale.
(Can, cannot, should) 5
) S is the first stage in service development cycle
(Market testing, Review, Idea generation) S
3) Services do not have material form and therefore they are..... WSS
(Inseparable, inconsistent, intangible) > ISR
4) Automatic vending machine is an example of
( Store format, non Store format, online store)

5) . .. offers several brands across-a smg1e produot calegory
(Multt brand outlet, Single brand outIetsL BPO) Rk
6) sasssaeni a mall refers to allotting ﬂcors on the bas;s of category
( Positioning, Advertising, Zﬂnmg) S : -
T wveases . is a business managcmcnt soﬁware that a company can use te collect store
manage ancl interpret data; .~ . ° Ry R
(ERP, KPO, BPO) 7. eV 3ot
8) Useof. .. .. card- result In dcbt f’or the user
( Debit, credtt ATM) '
) =P allows customers of bank tb conduct bankmg transactlons through website of

( Local regional
11) In e-commeme there is:
( Lower, -higher,: no): :
12) India's E-commerce market is mam]y dommated by ............... areas.
( Rural- ,__,urban, agnculture) A

B) State whethcr the followmg statamgnts afe true or false. (Any 10) (10)

1) Service perf‘ormance may. differ from' one service provider to the other

552 Marketmg research: has no sagmﬁcancc in'service development.

g 14) ‘The unqtgamsed retajlm 188 10
S5y In retail: sector heavy investments have been made by corporates such as Tata and Birla

3) In services marketmg j;here is a_need for interaction between the service provider and the
customer.. - -

to baar htgh operating costs.

6): Departmental Store is:@a: form ofnon Store format

x 7) 1TPO uwolves Gtttsaurcmg ‘of legal work

8) Therc s o dlfferance between credit card and debit card
9) Indian Insurans:e sector includes private insurance firms also.

10y I online shopp lng, oustomer can make payment only by internet banking.
1D CQC isa type of e-*commerce ,where customers sells to another customer through the

Inrcrnet

. i2) Inﬂtan firms da not facc any issues with reference to transition to e-commerce.
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Paper / Subject Code: 76106 / Commerce- IT

Answer the following: (Any 2) T s
1) Define service. Describe its classification. LR

2) Explain the elements of marketing mix for services.

3) Explain the Strategies for managing capacity and demand.

Answer the following: (Any 2) )
1) Distinguish between organized retailing and unorgan xzed rctall mg

2) Describe the guidelines for store planning with reference to. demgn and iayout; ':

3) What are the challenges faced by retail sector in India

Answer the following: (Any 2)
1) What is KPO? Explain its merits.
2) Explain advantages and disadvantages of de"bu card
3) Describe various elements of logistics network

Answer the following: (Any 2) < PSS TN SR TN
1) What is E-commerce? Explain 1tsfeaﬁer:s‘ A RN PR K
2) Explain Business to Consumer (B2C) model of c-wMerce in detad
3) Explain advantages of unlme marketing re,search PO et aA

Write short notes on: (Any. 4) v
1) Customer Expectations. Gfsemces SR PR R
2) Challenges in the seryice sgctor VR A
3) Retail Franchlsmg & WS 2

4) BPO o
5) Internet Bankmg :
6) Business to Busmess (BZB) transactlong fap e

A
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Time: 3Hours

Paper / Subject Code: 76107 / Business Economics-II

N B. 1. All Questions are compulsory.

2. Al questlons havc mtemal choxce

3. Draw neat diagrams wherever necessary. 4. Use of sim plc caiculator is; pem‘utte:l :
5.Figures to the right indicate full marks. AV e e :

1. A) Choose the most suitable answer from the given optlons and rewnte the statements
(any Ten) Fonlis
i. Which of the following does not determine the structure of a market ‘?
a) Nature of commodity  b) Number of sellers -
¢) Use of selling cost - d) None of* these _
its A competitive firm will maximize prof tat the level of output at whlch Margmal
revenue equals NS
a) Average cost S b) Average varlable cost
c¢) Total cost $ >3 d). Matgmal cost. -
iii. Demand for a monopoly firm’s. product is: ; R0
a) Perfectly inelastic P ke - b) Perfcctly clastlc
c) Relatively inelastic .= - .7 - ) Relatwely elastic
iv. Selling cost helps a firm"under Monqpolistlc competition® = -
a) To increase demand for the product < b) To widen the: r;}arket
¢) To create awareness. of thc pmduct - ) Allof thesc N A
V. Which of the follom,ng is nota pattem of Ohgopoly ‘behaviour *
a) Pricewar - =720 5 0 o 2 b) Non'price competstlon
¢) Price leaderﬁhlp N GAE tl) Price control
Vil Firms in Oli gapoly market have a A demand curve
a) Horizotital . = ' b} Vertical.
c) Indetermmate SEEENS d) Dlscontmuous
vil. Whjch of the fallang 15 ne an ob_}ectwe of price policy ?
a) Survival - ST T Rt o b) Profit
¢) Market share Ry TSP ) None of these
viii. -Price d;scmnmatlcn 1s gcneraily practlced under
a8 Perfect oompetmon Do T A b) Monopoly
- "¢y Monopolistic cotpetition, . . “d) Oligopoly
ix:; -~ “Which of the: followmg isa determmant of price ?
. <a) Market struéture, <~ 5 ~ . b) Objectives of the firm
O e o) Governmant pollsles T tate o0 d)All of these
SRS A prejcct indicates nwcstment e
7 2 4) A new busmess QP LT b) Expansion of existing business
- c)yBothof these. " = <0 = d) Neither of these
- xi... _Capital budgetmg Tclates ta
" ‘a)Pricing of. products SES b) Borrowing of funds
S e ), Long term: mvcstmcnt i d) Short term investment
xii. .5 A project is nfore likelyto be accepted if the Discounted Present Value is
. ‘a) More than investment b) Less than investment
. ;':c) Equal to m‘vestment d) Equal to Zero
1. B) State whether the followwg statements are true or false (any Ten) (10)

i. Aimarket'is a well-defined geographical area where buyers and sellers meet.
“ii. Under Perft‘-ct competltlon average revenue is always equal to marginal revenue.
it In MonOpoly, the firm and industry are one and the same.

6?5‘3 1
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Paper / Subject Code: 76107 / Business Economics-IT

iv. A firm under Monopolistic competition produces less than optlmum output, 5
v. Cartel helps to avoid cut throat competition among Oligopoly ﬁl‘ms

vi. Oligopoly market experiences price flexibility.

vii. Full cost pricing ensures reasonable profit.

viii Discriminatory pricing is practiced in a competitive market

ix Complementarity is a form of product interrelationship.

x Investment decisions have only short term implications. -

xi Capital budgeting ensures better utilization of resources

xii Pay back period is the ratio of initial investmentto Annual cash ﬂow _

2. Attempt A and Bor C and D y SN MRS S e~
A) Discuss the characteristics of a perfectly competltwe market D& N At ()]

B) Explain firm’s equilibrium under monopoly inthe short L SR A S (@)

C) Discuss the short run equilibrium of a ﬁnn under perfect competitlen wnth dlfferentlal
cost conditions. L E R = (8)

D) Describe the different sources of Monepo]y pewer _ N R AP @)

3.Attempt Aand BorCandD = - R I
A) Explain the following features of Menopehstxe Cem petltlon S (8)
i) Product differentiation’ - n) Group of firms & ]

B) Discuss the “kinked demaﬂd eur'v‘ model of Ollgopoly pr:cmg sy (7

C) “A firm under Monopnhstle eomyetxtxen tends to earn normal proﬁt in the long run” (8)
- Discuss R ey K

D) Describe the sallent fealures ef OIIgopon market SN 7

4, AttemptAendBorCandD B0
A) i) Explain brleﬂy full: eOS’t prlcmg S o 4)
ii) Using the following information; ealculate the full cost price 4
Average Fixed cost: Rs. 500 Average Vanable cost: Rs.100,
. Expected profit: margin | 12% Rt
B) E‘.xplam W1th the help efa di agram mﬂnopoly ethbrlum with price discrimination (7)

-.':' OR
C) Explain, wnth air exam;)le, Transfer prlcmg without external market (8)
D) Drscuss pncm 4 of mult;pfe preducts S @)
5. Attempt A aed B or Cand 3) 5 NOSE
‘A) Elabonate ‘the si gmﬁcanee ef Capltal Budgetmg (8)

- B)A. Busmess firm, ﬁas to choose’ between five alternative projects, all of which will
involve the same expendlture of Rs. 5,00,000. The average annual return expected
from these pro;ects are.as follows

. < Project ;s 5 o I I 111 1\'% \Y

_ AVerqge Annual Retum(Rs ) | 100000 | 200000 | 125000 | 175000 | 150000

Using Pay Bacl\ Period criterion, select the most suitable project. Justify your answer. (7)
OR

S C)A. eompany wa.nts to invest Rs. 10,00,000 in a new project. The project is expected

- togive areturn of Rs. 2,50,000 per year over a period of 5 years.

) Calculate the Discounted present value (rate of discount 10%) 5)

i) I"md out the Net Present Value 4))

: 2 m) Comment on the profitability of the project 2)
BTSN S e Page 2 of 7
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Paper / Subject Code: 76107 / Business Economies-II

D) Explain the Internal Rate of Return criterion of investment appraisal (7

6. Comment on the following : (20)
A) A firm in the short run may incur losses and still continue in business™
B) “Selling cost is a necessary evil under imperfect competition™

OR -
6. Write notes (Any Four) (20)
i) Market structure :
ii) Non price competition
iii) Excess capacity
iv) Dumping
v) Marginal cost pricing
vi) Steps in capital budgeting
67531 P Sy Page3of 7
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Paper / Subject Code: 76108 / Business Communication-IT
i 29/7 * - Q.P. Code : 32070

[Time: 3 Hours]

Please check whether you have got the right questmn paper. PR ASY
N.B: 1. All questions are compulsory. -
2. Figures to the right indicate full marks.

1 A Explain the following in 2-3 sentences (Any 5) R A 10y S

i.  Online interview ST o ; i Feba e
ii.  Group Dynamics P 3 QA I A S e Y

ii. Webinar | A8

iv.  Open House Pl ¢ P o

v. Grievance interview LT S

vi. Consensus ST K S OF

vii. Agenda

viii.  Open Questions

1. B. Match the followmg SV AP 05
-'-‘A-"- S G S S T R
i Minutes® - - o8 AL Right to Information
ii. Tool: of extcma] plub'lic‘ . .B. Formula for writing a sales
relatwn R SO T A efter
iii.  Exit interview. SN S _ -'_(;:.:v-.'EXhlbltlorls and Trade Fairs

v . Pubhc Infonnatmn Oﬂ' ;er ~ - D. Record of the decisions
&5 ' 0.5 taken in meeting

v Star, Cham &Heok _' SR ‘Held when an employee is
Vg 3 s leaving an organization

2.5 Wnte Short Notes on any four of the followmg 20
: S -’Appraisal mtervww A
! WASP Techmque of conductmg an interview
- Role of ﬂle Chm:person in‘a meeting
Role of the parhc:pants in a meeting
Disadvantages of meetmgs
. Preparation by ihe interviewee before a Selection interview

& -

we Awm

3. Answeranytwo of the following questions: 20
N ‘Define Crisis. Discuss the role of the Public Relations Department in
- Crisis management.

Turn Over
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2. What are Conferencrs? Describe the procedure for orgamzmg a_f- :_‘ e

3.

Write any four of the foll swing letters: __:_5_.\:5' -
1.

2.

Paper / Subject Code: 76108 / Business Communication-II

 QPicodeiz2onn

conference.

Discuss the differe it types of Committees and the advantages of

Committees in an ¢ ganization.

200

Write a letter o' inquiry to leh& Apparels Ltﬂ enquxrmg about"

various types of i 1en’s wear that you wnsh to stock in your shop.

Jagdish Stores, 1 (ashik has recelvcd a consxgnment of bangles from
Mahavir Bangl s, Flrozabad ‘in a damaged condxtion Wnte a‘_,.__.'

complaint letter >n their behalf

Write a sales le ter tb‘prpmqte the sale of any one of the follawmg ol

i) A Wash ngMashme
i) A Healf 1Dmak ' ' R R
Mr. Satish She fh- frem Mumbal had purchased e 5 Ton Venus
Premium $p111 g\Q ‘from Vema Ele.ctromcs Co. The air condltloner
was nol; work '__,pn;apeﬂy smce mstallatlon and r&c}ulred frequent
repaiss. Drir ¥ ‘the eolirse. of repair, the_mechanic damaged the
compressar o *ﬁle 'C Thls'-:w&s brought to the notice of Verma

-Electronics C l,mgan. In S]:ut qf the repeatcd pléas by Mr. Satish
- Sheth’ 1o rep]. % the. compresm)r thf, ‘conipany: did not take action.
5"_ Write a siter > th&CansumerRedressal'- Forum seeking justice.
.‘Many-.slreet le his bq J alshankar Road Malad have not been working

P2 £ Yaur cqllcge Prmclpﬂl mds that tt e books, newspapers and magazines in the

o cc[lege library are not wing used :xtensively by students. He has formed a

' .':'-".eommlt’tee of S‘ta,ﬁ'and students t ) study the reading habits of students. Draft

2 7 thecomm;ttee s rep“m:t ind the cc vering letter for the same.

EF73D3¢ 36A12B3777A2C06F08D0402DD
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Paper / Subject Code: 76108 / Business Communication-I1

Q.P. Code : 32070

d 3

Draft the Notice and Agenda of the 23" Annual General Meeting of Young
India Textiles Ltd. Also draft the following Resolutions :
i Appointment of Auditors
ii ~ Declaration of Dividend

Summarize the following passage and suggest a suitable title :

Advertising is a business. It is for all business. To a manufacturer; advertising
is usually considered part of a firm’s marketing programme. To a retailer, it
is also part of his so called ‘marketing mix’. To various media of

communication, it is both a major source of revenue and a means of providing

information about products and services to their audiences. It informs the
people about the varieties of service provided by an organization and also
about the different products.. To' the consumer, it is a major source of
information regarding produét_s' and services. Good advertising is also a
means of educating the public in good taste. It moulds the psychology of the
consumer and brings him to the point-of-sale. In a country like India where
people, specially in ‘the rural ‘areas have acquired a certain amount of
purchasing power but are at "ths same time steeped in superstition and blind
beliefs, advertising has a big role to play in changing conventional habits. It
should help to educate and motivate the masses so that the little surplus that
they have is not frittered away in traditional but wasteful expenditure, but is
used in the purchase of goods and services which will help to make their lives
..;icher'and"'a_l; the same time participate in the government’s effort for the
growth of the company. (224 words). -
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Paper / Subject Code: 76109 / Environmental Studies -II .+ '_:

Foi% oty —S2on ]

208G ar.coteis

[Time: Three Hours] [Marks 100]

Please check whether you have got the right questton paper o
N.B: 1. All questions are compulsory. ; R AvEs
2. Draw diagram/maps wherever necessary:
3. Figures to the right indicated full marks; =~ -
4. Attach the maps to your answer pap_c?f'_. RS

Q.1 A) On the outline map of Mumbai supplied to you myarks and name the fQIIowmg e (1))
a) A vegetable and fruit market. CneraT e San 3 R
b) A slum area & '?. 22 EN A ,_4:'-*'.
¢) A beach in Mumbai Py A
d) A cave in northern part of Mumbai.
e) Airport
f) An area of bird sanctuary TN A
g) A railway junction on central rallway ime :
h) A dockyard in Mumbai 2 s
i) Any one religious center &~
j) A solid waste dumping yand_‘_

Q.1 B) On the outline map of K nkanlsupplicd to. you mark and name the followmg (10)
a) Ratnagiri district 7.7 070 e 5. L
b) A port in Smdhudurgdlstnct.ﬁ '
¢) A ghat in Raigad ¢ dlsmct
d) A centre of ﬁ'uxt canhmg
e) A fortin Tha'ﬂg district . S
f) A hill statlorun Ralgad dlstmct
g) Anyone Hot sprmg '
h) An earthquake prof w';_i

i) Flood: prown area; )

Q.2 A) What 15 meant _ waste'? E}aborate dlfferent sources of waste generation. (10)
B) Descrlbe Ellfferent mctheds 01" wastc ma.uagemcnt with specific reference to domestic waste.  (10)
7 £ OR
Q) Explain. the present solld Waste ma gement methods practlced in Mumbai.

| -D) State the role of cmzelis m’contmﬂ 'T'I.S()lld waste generation in rural environment.

¢ Q 3 ;A) What lS meant by land desmﬁcanon" Explain different causes and effects of desertification. (10)
3 : _B) Deﬂue hungcr( Stateﬂxfﬁerent factors of food security in developing region. (10)

: OR
| C) What is. meant by globa{ Warmmg‘? Explain different causes and impacts of global warming.  (10)
:D) State diffcrent"causes of ater pollution. How can we reduce pollution of water?

T Q.4 4 ) State the meortanbc af tourism, with special reference to developing region. (10)
S _B) Elaborate the challenges faced by India in tourism section. (10)

7 OR
Q4" 0C) What are the advantages of ecotourism in India? (10)

[ D) Statf.% m hﬂef different economic, socio-cultural advantages and disadvantages of tourism. (10)

52D665BA6103 565G Ccara99Es313



Paper / Subject Code: 76109 / Environmental Studies -I1

Q.p. Coda. 32355

Q.5 A) “Chipko Movement’ is one of the earliest environmental movement in Indla =eiab0rate.y > ] (10)
B) Explain any five environmental protection laws in India. N R B S T S -'(_10)'7_

OR — Sl SR °

C) State the relevance of environmental management towards. sustamable develﬁpment Ve i 10) e

D) How do the principles of International standard organization' (ISO) help in mamtam quahty of ( 1 0).

environment? S WA A

SERENRREARESRERRTRERE A A
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Paper / Subject Code: 76110 / Mathematical & Statistical Techniqu,q:‘:."'-_'l[_-_'i“_._: VA S

Time: 3 Hrs. ' ik t f MaxMarksIOO

N.B. (1) All questions are compulsory
(2) Figures to the right indicate full marks
(3) Graph papers will be provided on request

(4) Use of simple non-programmable calculator is allowed

SECTIONI =
Q.1) Attempt any four from the following S F R
A) Find the derivative of y w.r.t. X: PR 2 8 \ (S)
i) y= Slogx+3x2-7 s SEAE N SE

i) y= (4x>+3)/(logx-5)

! ,-\..

B) Find the total revenue function if the dc:ménd D'S{}Gp };2 where ) 1s the prlcc Also ﬁnd the total

revenue when the price 1sRsSperumt £ SETETES ~_ Sl L A (5)
C) The total cost of x items of commmdl ty sg?wen byC=x2+20x+‘9¢ E-nd'-'_.ﬁ\é;:r‘ginhl?:éost and Average
Cost when x=3. RN . _ S &8 ‘\ Ty | (5)
D) If the demand D is given by D=12+4p-p" Find the elastmty ofdamand wheh p=3 ®)

E) The total cost of producing x artlclés 15 gwenﬁby C—20+4x and the total revenue from x articles is
given by R=30x-x%. Fmei the ngmber of artlcle; (x) which maxlm Lzes the ploﬁt &)

Q.2) Attempt any four from'the followmg LN _

A) At what rate w1li the snnple: imerest 011 Rs 15000 for 4years be equal to the simple interest on Rs
16000for3yearsat lO%pa? WA : TSSO E (5)
B) Fmd the amouut on maturlty at ﬂ:te end of 2__ e ars of’Rs 30000 deposited at 10% p.a. compounded half
ycarly EhSS .‘ . 3 L (5)
C) Fmd ‘the prcscnt value of Rs 59000 requircd aﬁer 3 years at 6% p.a. compounded annually.  (5)
: D) What amoun@; wauld bqagchrﬁulated at thﬁ gmd of 3 years if an annuity of Rs 20000/- is deposited at

_ the end of ea‘ch year" The rate of ;nterest i’ 10% p.a. compounded yearly. 3
_ E) Manq; takes a Ioan of Rs 80000 tQ ]Je repald in 4 EMI’s at 12% p.a. by reducing balance interest rate.

' Fmd the Equatcd Monthly Instalménts (EMI) (5)

. Q. P. Code: 52446+ Page 1 of 3.
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Paper / Subject Code: 76110 / Mathematical & Statistical Techniqqgsili';;_'- N ARG

SECTION II SFNESH LIS G20
Q.3 Attempt any four from the following --'_:: L ST :
A) Find correlation coefficient between X and Y, given that, n=25, Zx“ 75 )_',y—IOO Zx ~250 oo

2 y*=500, X xy = 325 3 :i'-. S R B (5) .

B) Six participants in a music competition were assigned score. by two JUdgﬁ:S X andYas fgllaws (5) '_ 2 S
X 54 |61 44 |32°.{24 412 _-;-' " 2 : %
Y {6 |25 |15 |36 |40 | '-5;6: R

Compute Spearman’s rank correlation coefficient bctween X and Y _ :

C) From the following data, obtain the yield when the ramihll 1s 30 mches. The corre)atlon cogff' clent

R l'--37-:" Yld(peracw) e
IR B T

between rain and yield is 0.8

Mean

Standard Deviation &

&)
©)

&)

© B)Findinee yeariy moving averages for the | )

G RS RS 2013|2014 2015|2016 2017
Sa]es (Lakh Rs) S ) JAVS 22 30 25 27 35
- Q. P. Code: 52446 s Page 2 of 3
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Paper / Subject Code: 76110 / Mathematical & Statistical Techniques-II

)

C) Find Cost of living index number for the year 2017 using Family Budget method.
Commodity Price (Rs/Kg) (2015) Price (Rs/Kg)  (2017) * | Weightage
Wheat 32 40 20
Rice 25 30 10
Dal 40 55 5
Salt 3 4 7
Vegetables 8 14 8
D) Fit a trend line by method of least square. _ - (5)
Years 1991 1992 1993 1994 11995 1996 1997
Sales(in 12 30 56 S5 . 24 34 40
thousands) 3 ' '
E) Explain components of time series.- g 3)

Q.5 Attempt any four from the followmg _' )

(A)30% of the students in the class are glrls Fmd the probabmty that a randomly selected group of 5

students include 3 girls.

)

(B) A random vanabie X follows pmson dlstrlbutlon w1th mean—z Find the probability of

i) 0 success

11) at most 2 successes

(C) State the propertles of normal dlstnb unon

| (e 2=, .13_.5): 273

©)
)

(D) The probablhty that a student is a swimmer is 4!5 Out of 5 students selected find the probability

that i) 4 are sw1mmels i) I or less are: sw1mrner5

)

(E) The weekly wages of 8000 Workers are normal]y dlstnbuted with mean Rs 770 and S.D. Rs 70. Find

the no. of workers whose waﬂes below Rs‘?OO (area between z=0 and z=1 is 0.3413)

Q. P. Code: 52446
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Paper / Subject Code: 76105 / Accountancy & Financial Management- PaperII SR

FrBGrm—Gem I S

[Time: 3 Hours] W "-F"E /(7 [Markslﬂl]] 4
Please check whether you have got the right questiori"paﬁcr.' o ; 5 '_ ; Ao
N.B: 1. Strictly avoid restoring to any unfair means during the examination. " ;- .

2. Figures in brackets to the right indicate full marks allotted to t_}ic'_quesﬁ_o'ri_,.- '
3. Working notes should form part of your afiswers. - SR o
4

. All six questions are compulsory, although there are internal options in case of . P

questions 2 to 6. Qo
5. Use of simple calculator is allowed: = -~ -

Q.1 A) State whether the following statements are True ot False (Any Ten) - S A 4 1)
a) For ascertaining credit purchases, sundry debtors account is prepared. - . R
b) Bills receivable dishonored are credited to bills payables Account. RS !
¢) A statement of assets and liabilities as on aparticular-date with missing figure is called as™
Ralance Sheet. L & | Qo VN
d) Profit/Loss on consignment belongs tothe consignor. < -~

¢) Consignor is a person who consigns g_'b:gﬂs
f) Invoice price is always higher than®aft.S P Qi Fef & o N RN S
‘Branch Debtors account is maintained.. = = >

g) Under Stock and Debtors method,

h) Credit sales are debited to Branch Debtors account under Stock and Debtors Method.
i) Loading on opening stock is credited to Branch Account under Debtors ‘Methad.
i) Fire Insurance covers death of human beings dueto fire. -~ - SRUAR

k) RBI governs insurance business in India. " RSO A

Pt 3

I) Memorandum Trading

\coount i 'i—-j:__r"cparéd_._;g)-'é'sc_{:rtain the amount of salvage.

'

fives. (Any Ten): o)

B Fill in the blanks chioosing the correct altet

a) Bills Payable dishonored are debited to ="~ Account. -
i) Bill Receivable: if) Bills Payable " iii) Sundry Debtors iv) Sundry Creditors
b) With the available:informationa fraderneeds to convert the incomplete records into

i) Com;;!c’tﬁj:‘gbards'im&;hbd" }-::i-i'._)f'St'zi_,tc;m_en__t-E;f-affgi'rs,_-m'e;h‘od
iii) Conversion method ‘iv) Nonéof these . = 2
o) If tht?‘-'!:iﬁ?:dﬁ‘g:m"sﬁ profit 1525% on:sales.and the costof goods sold is Rs. 10,000/ the gross
i) Rs. 2500 i) Rs. 3333 "1i}) Rs.2800" iv) None of these
d) The relationshipBetyeen Consighorand Consignee is that of
i) Principal and Agent " i) Debtor and Creditor
“iii) Buyer.and seller™" .~ iv) Owner and Servant
) If the consigniee gets _— & < she will-bear bad debts.
~ "}y Commission.“ii) Del eredere cominissign iii) Discount  iv) None of these
-f) Consignmentiaccoyntis:a ..« . Account.

. i)Personal i) Real {ii)Nominial - iv) None of these

ihé;}_.’branch but not received by the branch are termed as

~ (L

: _g) Goods:sent by hﬁ;_ad;._qfﬁq&;_d

) Branch Account i) Goods in Transit jii) Neither (i) nor (if) iv) Both (i) and ii)
h) Under - °" % method, goods returned bgr Branch are credited to Branch Account.
i) Stock & Debtors ii) Debtors iii) Both (i) & (ii) iv) None of these
~41):The branch is said-{o be when its accounts are maintained by Head office.
e -'i)_'Iﬁ'dﬁagc_'r__l'd'éri_t; iy Dependent iii) Foreign iv) None of these
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Paper / Subject Code: 76105 / Accountancy & Financial Mauagement—fﬁ_ﬁé":ﬁ. MRS

J) Stock for the purpose of claim should be -

i) At marginal cost ii) At market value iii) At cost iv) At reallzablc vaiue

k) The amount to be paid by insurance company in the event of loss is cal-le as
i) Premium ii) Insurance iii) Sum assured iv) None of these r Faf's

1) If Gross profit is 20% on cost, then it is on sales.

i)25% ii) 50% m) ~th lV) Zth

Q.2 M/s Kunal steel suppliers does not maintain double entry books of Accounts The
furnished you with the following information. __::_--,__r AR, 2

I April 2oi8"i1iéj _

a) Particulars 31
Sundry Debtors 250500
Sundry Creditors eSS ‘2 45, 700__‘_\ >
Stock &7 235.0
Furniture A
Machinery
Cash and Bank Balance

Particulars

Cash Sales 56,000
Received from Del:ifd s 50,000
Paid to creditors -+ 0,000,
Wages paid 9,200
Salaries Paid* 45,800

Printing and statlonary‘expenses paid- -
Drawings"™ . SRR

Additjonal capatal Lﬁu:dducé’ 80,000
Commission:Received - - 59,000
Cash:Purchases: (&= &/ F & 69,000
shn‘aﬁ_%xpfaﬁsespa*d TS 36,600

c) Other Transaqtlon
Dmcolmt alIDWed Rs 3,800 b
- Discount Received Rs; -2,5507
= .~ Bad Debl’s‘wr:;tten ‘off R‘s 6, 0"60
N -'--Salarmﬁ.ﬂutstandmg Rs 6, OﬂQ S
S SIS Degreclatlon i§ 10 be’ prqvlded O] @r_mtpre @10% p.a. and on machinery @ 20% p.a.
& Pfepare Tradlug, Profiraid ﬁpss\ABCQunt of M/s Kunal steel suppliers for the year ended
S 3 l" March-'20!9 a 'alance‘Shebt as on that date.
TR g O (VS S : :‘ho OR
Q25 Mr,. ‘Samsher dqqs not mamta his books of account on Double Entry keeping system. He  (15)
FRFO ",suppliﬂs you-tl-fe follpwmg mf‘ennatnon

B914FA559D2C0C69BCB7C6B60AB354FD

1/04/2017 (Rs) 31/03/2018 (Rs)
cf ey L 72,000 72,000
o SIS Motor Vehlc[e 1,00,000 ?
.| Sundry debtors 67,000 49,000
ey Slldﬂ’ Credltors 74,000 59,000
65442 Page 2 of 13




Paper / Subject Code: 76105/ Accountancy & Financial Management- Paper II

Stock 76,000 1,00,000
Cash and Bank balance 3,000 S 24,000
II) Cash transactions during the year: <

Particulars O3 R
Purchase of Motor Vehicle (on 1/04/2017) .« | < ~-30,000:]
Capital Introduced o 0003050005 5
Cash Sales S SO ey P L
Paid for Rent 0.8 Cf 205000
Paid for salaries - - < 23,000 |
Received from Debtors : - 2,00,000
Payment made to Creditors : A - 100,000
Paid for General expenses oo oA ) - 17000
Drawings F T 5N 3P 86:0004 ;
Carriage Inward U0 F T S5 AN R S 49 000‘

1) Depreciation is to be pravided on Plant @ 10% p a and Motor Vehlc e @ 20 % p Pk
2) Rent Outstanding is Rs. 2,000 St D A
3) Discount allowed was Rs. 3, 000 and d1scount recewedRs 2 {}00 S, '.-' '__ :

You are required to piepare < : B3
1) Trading and Profit and Loss a/c-for the year ended 3 IS‘March, 201-8'.__:-» S
2) Balance sheet as on BIs‘March 2018 SR SN St A

Q.3 A Head office in Chennal has a branch in Deihl to Wthh goods are: mvmced by the Head

office @ 20% Profit.on salesprtce S
All cash received by thébranchis d'uIy renurted to Head Ofﬁce
From the fbllomntT pamculars shczw the Branch Account m the books of the Head office.

Also p: epare necessary accounts requlred %o f' nd out the Valuc of Branch credit sales.

& e Sparticulats o (LU S Y Rs.
Stock on:1% January 2018 (at: Involce PI‘ICC) 6,25,000
| Debtors on ¥ January2018 o 88T A 6,00,000
| Goods. supphed by Head ofﬁce ( af Invo1ce pr1ce) 20,00,000
“of Cash-Sales ¢ & . A ST 8,00,000
- & f Cash Received ﬁom customers 14,75,000
|'Goods returned to Head office ( at [mrmce Price) 1,20,000
‘| Cheques received ﬁ‘om Head Ofﬁce

Wages'i& salaries - W AVS 5,50,000
3 <Rent, R_ates Tax 1,50,000
e o Sundry Expenses £ 25,500
[Stock as:on. 315‘December7018 (at Invoice Price) | ~7,50,000
Debtors as on31% December 2018 11,25,000
Liability for. Quts‘randmg petty expenses as on 5,500

31f12f2018 & '

¥ P Q 3 Isham Enterpnse of Mumbai has a branch at Shimla. Following information is obtained

Erom the branch forthe year 2018-19
- Famculars | 01/04/2018 (Rs) | 31/03/2019 (Rs) |
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Q. 4 :
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Paper / Subject Code: 76105/ Accountancy & Financia] Management- Paper IT :'

1,500
Transactions during the year 2018-19

- Particulars
Goods sent to Branch
}Edit sales
Cash Sales 5 e it
Goods returned by customers to Branich .+ ~[=
Goods returned to Head Office =< =
Cash received from Debtors © — = =
Expenses paid at Branch: i
Salaries - A"
Commission
Rent and Taxes R b S
Discount allowed to-custoners . < -
Bad debts SO ELS

a) Branch stock Account
b) Branch Debtor Account: .
¢) Branch Expenses Account -

d) Branch Profit & Loss

<1 000 each t'-c_)iiji"s;hé'_of Nagpur and paid for carriage  (15)

for Rs. 77,600, and discount was qha;g;f:;;f‘-ip?-co;nsig;@n'ent‘._a'ccount.
Jai recejved fiﬁ,ACi?QUh'_f‘éfiI}’-iﬁ;éfm-fDiﬁl}a»frOmf whichit appeared that:
a) 340 Cookers wee sold At Rs.1,400"each for cash. & -
b) 40 Cockers kyé;e*s‘dtdiﬁ;--g',sj.‘;.;soQ-,éaéf;efgf‘_g:pe-d-i._t_;
Disha paid for Rent and Taxes Rs; 3200 dnd advertisement Rs. 1800, Disha is entitled to a

total commission of ] 0%.on sales which includes a del-credere commission of 2%, The
balance amount was remitted by bank draft.~" .
y ' : igneesa/c in the books of Jai.
LRt S ot S A -‘ OR

M/s ABC& co of Murnb: consigned to Mr. D of Nashik 1200 sewing machines costing Rs,
2,600/~ per sewing m"e:xp’hjh_e_.-ﬁ"fl_-"ﬁf;:jf‘_:i;ni\zéi ced @ 20% above cost price

Prepared consignment a/c-and cons

-

A 5 -d0r insurance, Rs. 8,000/- for carriage and Rs. 7000/~ for
meCeHaneous eKPCHS\ES V)&

On receiving thqf&o@giﬁaﬁ;bﬁt’Mﬁ D accepted a bill for half the amount of invoice price,

g M/s ABC& Cod;scountcd the' bill @ 1% of its value, The discount was charged to

,c‘gn:s__ig;iz'rﬁent““ count..

by Credis sales of 500 sewi
¢) Mr. D paid godown'rent of Rs. 10,000/~ and selling expenses Rs. 15,000/-

D. sent an account sales which shows as follows:

%) Cash saiés 0F600 sewing machines @ Rs. 4,000 each

ng machines @ Rs. 4,500 each

Mr.D. remitted .thé balance due by bank drafi after deducting his €xpenses and commission (15)
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Paper / Subject Code: 76105 / Accountancy & Financial Management- __Pa"'lp'ar 1I

@ 10% on sales and del credere commission @ 2% on sales. s T
Prepare Consignment Account and Consignee’s Account in the books of Conmg,nor :

Q.5 The business premises of Gala Timber Mart destroyed by fire on: 16/07!201 8. However all (15)
the books of accounts and stock amounting Rs. 18,000 were salvaged and the fol]owmg
information was available from the books. : : _

Year ended Gross Profit (Rs) S ..-Sales,(R_s) |

31-03-2015 2,39,500 [ ¢ - 9,58,000] .-
31-03-2016 2250007 " 9,00,000 |-~ -
31-03-2017 2,05,480 | - . "’ 934000 3
31-03-2018 2,00,640 2 9,12,000] .

Additional Information:
a) Stock on 31-03-2018 Rs. 1,02,250 o
b) Purchases from 01-04-2018 to 16-07- 2018 Rs. 32 12 380
c) Sales from 01-04-2018 to 16-07-2018 Rs: 3,50,000
d) Wages from 01-04-2018 to 16-07- 2018 Rs. 25 000
¢) The amount of policy was Rs. 55,000
Claim was subject to Average clause.
You are required to prepare a statament of clalm agamst msurance company
OR &

Q.5  The premises of Shlok Ltd. werc engulfed by firé on 1% November, 2018 whereby s
substantial stock was sever,ely destroycd Thc records avallablc with the company yield the
following information. - ' B

a) For the year ended 31“ March 2018 T

Particulars A S
Opening Stock: - .‘:" : 1 ;20,000 = L
Closing Stock - .- S OLOR000. < S S AT |
Purchases, = = o ol . ©12,00,000. !
Sales Ry L e 500,000 b T E '
Wages . . . o = 450,000
Direct Expenses = = " 3,00,000

b) For half year ended 30" September, 2018
Purchases . Rs, 7,50,000 - .
Sales” - < Rs. 13;50, 000° :

c) For'the pertod from 1% Octobcv 2018 to date of ﬁrc purchases and sales were at the same
monthly rate as for th¢ period 1 April, 2018 to 30" September 2018.

d) The wages and Direct Expenses during the period 1% April,2018 to date of fire were at the
same rate per month as in last year;

e) Salvage Value is Rs. 26,250

f) The policy amount was Rs. 3, 10,000. The claim was subject to Average clause.
Computc the amount o‘f claun tQ be lodged with the Insurance Company.

Q.6 A) What is: Smglc Entry System" Dlstmgmsh between Single Entry and Double Entry System  (10)
ofaccounting? =~
B) What isa ’Branch"1 Descrlbe various accounting methods of Branch Accounting. (10)
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Q.6

Paper / Subject Code: 76105 / Accountancy & Financial Management- Paper I = 5
Write short notes on (Any Four) ' DESI ROy o) 1 Uk
a) Consignment Account S DD g A WA
b) Average Clause P WS RS P N &
¢) Memorandum Trading Account O TSN S
d) Del Credere Commission
¢) Dependent Branch , : R A SV S PO
f) Total Debtors Account. ke & SIS FTIERLTONE
etk ks ok ok sk ok o S
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Paper / Subject Code: 76101 / Foundation Course-II
MI’"‘ %/4 ‘:_ i ._\ \i\'{ | E‘:- L e
(2% Hours) 5

N.B.: (1) All questions are compulsory.
(2) Figures to the right indicate full marks

1. (a) Choose the correct alternative (any eight) :-
(i) means the integration of natlonaier:ena n
(Liberalisation, Privatisation, ‘
(i) Maximum number of farmers’ suicides: ha\ze Geeur
(Madhya Pradesh, Andhra Pradésh, ~ Mahar
(iii) Right to Freedom is enumeratedTnArtlc[e _
(17, 18, 19) 3
(iv) is the study of all lwm
(Ecology, Biology, .
Human Rights are _ 3

(v)
(vi)
(vii)

as o j«,

(Contract Tar\ i

(b) (07)

6f s.peéch*and Exﬁressmn is an absolute right.
odqr_:ers are%maﬂ living beings such as bacteria, insects and fungi

[TURN OVER
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Paper / Subject Code: 76101 / Foundation Course-II

2 QP Code : 04014

Explain the benefits and limitations of economic liberalisation in India. (15)
OR

‘Globalisation and privatisation have provided innumerable employment oppurtanities in

India’. Discuss.

Define ‘Human Rights’ and discuss the arigin and evolutlon of human rights from ancient (15)
to modern period.
OR -
Discuss the characteristics of Fundamental Rights enshrined in our Constitution and examine
the constitutional provisions which guarantee Right to Constitutional Remedies.

Examine the various factors responsible for envlronmental degradation. (15)
OR

Explain the concept of socialization and examine how the agents of socialization play an

important role in the development of individual.

Explain the various types of conflictand elaborate the startegies for coping with conflicts.  (15)
Write short notes on (any three) :=

(a) Causes of Migration .

(b} Significance of UDHR -

(c) Components of suitainable development

(d) Maslow’s theory of self-actualization

(e) Causes of Stress. '

(i)
(7/, W) (TR 0T : 04

() Serdtereler sfen quf 7o gefaam, -
(3) . SUraeTHaT AICTART SIS HTIAET Fgrdl.

(a1) ar Taly forgr (BIvmigl ara) = (¢)
(9) Gmﬂ%ma mfmr@)sﬁ AETY sreferavelegT gomT UewRuear ufpdan

(R) -SITH=ared] Aald W ARHT —————— T XIS AT ATed.
(LT TS, 1Y TR, HENTE) |
(3) "R ASFFCAT Farki =Tl g8 Dol —————— L I IR,
= £ 98 )5
(8) wd Sierar e gaieRvnell STt Ha YT SR FgUe] —————— .
: (w‘awsrrﬁr Sitgarme, aRIRTe)
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Paper / Subject Code: 76101 / Foundation Course-IT

3 QP Code : 04014
(4) Tt g == 3Ted.
(sraffed, sie, BRI g7 Jua Gﬁﬁ‘)
(&) IHARA AT §8F ARRATHT 90 fEAR — - - —— Af 0 Fert.

(9R8Y, 98¢, 3%40)
() erTer=ateaT wgepTaf S deted At s @ frererer T agH

BUATT Ugeell ~——————~ TR
(FaTcY adt, St adt, @t 9d).

(¢) emoayf g —---- TGNV ST SR 3R
(gar, mft, eg=t)

(R) FHRHD TUTEAT ——————— g 19 37Tz.
(g¥e, e, srcftaomE) S

(90) SHRT SaTaeaT GERGIHT == — =~ = -~ ABRS 3 FEUET,
(Erarﬁﬁa?wm?ﬁtmszf) ' DRSO _

(& )@aﬁaﬁruﬁq\zﬁaﬁaﬁwﬁ%ﬂ wﬁvﬁa"rmﬁ) ' ()

(9) arfRiew Oddﬁlw:h{t{ IR PG SERATET HHT BIUgTa] \sqmcmw LU
() <M mmIGMU[IJi\ob Eb“sﬂe“r cnwuhuwi HHUITT (VRUT HTHRE=gT HeHia)
Enasm?ﬁ 3Te. :

(3) ITFCTTIT HET I ATAR msaﬁ%} Ferfer et orme.

(¢) = gaD AERAFITET Bo 3 Q4 9€ T i, wHiie STfOT Hivpiern
&9 SYFT 3ATed.

) YduEiE qalad gpiNES [UR g,

). sif¥earh FaTca & Al g8 ame.

) :ﬁ‘mmg FeE mﬁrgwﬁ%wfa‘wn?ﬁa WWG‘W TR

5 -crncpﬁaHlu B omeae ICICDH-IItI Th rrsﬁn'ﬁ T ITR.

(%) AT ijﬁr‘arcui dwicngoo gafche ot fefor giar.
(90) g TPRIHS wiaade Fas & gita-gRa-gay o,

HIRAT eﬂTféIEﬁ Gﬁﬁ‘i@‘wﬂ%mmé mﬁqﬁmmmw (3w
far o

Wﬁﬁw ST TR R RYHRT= RYR Fefl Iueteyr se e’

g1 DAL,

qﬁiﬁaﬁfﬁ SR B AT, U o MY draraiaer Scpidi aaf exr. (3w

SR fohar
HRET SR er T geteaT IRt Tat ot S ST WREvTeAT gE

URT 80T T,

(Y
(&
(W
(@
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